MlAMl-DADE' MIAMI-DADE COUNTY, FLORIDA
COUNTY METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Sun Metal Systems, Inc.
5008 Tampa West Blvd.
Tampa, FL 33634

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Series 650 Aluminum Window Wall System - L.M.IL.

APPROVAL DOCUMENT: Drawing No. 650WW-LMLI, titled “Sun-650WW - TAS 201-203 Large Missile -
Window Wall”, sheets 1 through 9 of 9, dated 11/20/03 with revision #1 dated 11/30/04, prepared by
manufacturer, signed and sealed by Wendell W. Haney, P.E., bearing the Miami-Dade County Product Control
Approval stamp with the Notice of Acceptance number and approval date by the Miami-Dade County Product
Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence page E-1, as well as approval document mentioned above

The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No 04-1105.01

Expiration Date: March 24, 2010
Approval Date: March 24, 2005
Page 1




Sun Metals Systems, Inc.
NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A, DRAWINGS
1. Manufacturer's die drawings and sections.
2, Drawing No. 6S0WW-LMI, titled “Sun-650WW - TAS 201-203 Large Missile -
Window Wall”, sheets 1 through 9 of 9, dated 11/20/03 with revision #1 dated
11/30/04, prepared by manufacturer, signed and sealed by Wendell W. Haney, P.E.

B. TESTS
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Small Missile Impact Test per FBC, TAS 201-94
5) Large Missile Impact Test per FBC, TAS 201-94
6) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an aluminum window wall
system, prepared by Hurricane Test Laboratory, LLC, Test Report No. HTL-0280-
1209-03 with specimen # 3, 4, 6,7, & 10, dated 12/17/03-5/18/04, signed and sealed
by Vinu J. Abraham, P.E.
2. Test reports on 1) Large Missile Impact Test per FBC, TAS 201-94
2) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an aluminum window wall
system, prepared by Hurricane Test Laboratory, LLC, Test Report No. HTL-0280-
0420-04 with specimen # 1, & 2, dated 01/8-5/18/04, signed and sealed by Vinu J.
Abraham, P.E.

C. CALCULATIONS
1. Anchor Calculations, ASTM-E1300, and structural analysis, prepared by RW Building
Consultants, Inc., dated 10/29 /04, signed and sealed by Wendell W. Haney, P.E.

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 01-1204.01 issued to E.I. DuPont DeNemours for “Sentry
Glass Plus” dated 01/17/02, expiring on 01/14/07.
2. Notice of Acceptance No. 03-0421.01 issued to E.I. DuPont DeNemours for “Saflex
HP” dated 05/22/03, expiring on 04/14/08.

F. STATEMENTS

1. Statement letter of conformance and no financial interest, dated 10/29/04, signed by
Wendell W. Haney, P.E.
2. Statement letter of no financial interest, dated 10/18/04, signed by James G. Hatton III,
Vice President, Sun Metals Systems, Inc.
G. OTHER

1. Letter from the consultant stating that the pgoduct is in complipncgWith the Florida

Building Code (Code). >
"~ Man rez, P.E
Product Con Examiner
NOA No 04-1105.01

Expiration Date: March 24, 2010
Approval Date: March 24, 2005




C\Documents and SettingswendelihiMy Documents\Drawings\S50WAN-Liv.chwy

SUN MéTAI_S

SUN—

650WW

WINDOW WALLS SYSTEM

142 13/16” FRAME SIZE

INTERMEDIATE MULLIONS
REQUIRE STEEL REINFORCING
@ PLATES AS SHOWN IN SECTION @
1] 1 |
a I |
.z “/ ! ya Vi |
2 s I |
1 T |
(o i CNIL ' a
3 I & NS l
9 /) L Il |
= @ | 2|7 |
g 1 — Il
e : I
" - ¥4 |
= Y I y e
y I /2N y
& K
| - |
<2> [ — I |
IS W4 |
i |
45" DLO 45" DLO 45" DLO 7 F
49 1/2" UNIT WIDTH| 48" UNIT WIDTH |49 1/2" UNIT WIDTH
147" FRAME SIZE
SUN—650WW_WINDOW WALL SYSTEM
SINGLE AND / OR MULTIPLE LITE
DESIGN PRESSURE: + 90 PSF.
TABLE OF VCONTENTS NOTES:
SHEET 1 NOTES AND ELEVATIONS 1.
SHEET 2 HORIZONTAL CROSS SECTIONS
SHEET 3 | VERTICAL CROSS SECTIONS 2
SHEET 4 BILL OF MATERIALS AND COMPONENTS 3,
SHEET 5 MULTIPLE WINDOW ANCHORING 4
SHEET 8 MULTIPLE WINDOW ANCHORING
SHEET 7 MULTIPLE WINDOW ANCHORING 5,
SHEET 8 SINGLE WINDOW ANCHORING
SHEET 9 SINGLE WINDOW ANCHORING

142 13/16" FRAME SIZE

I
o |l
NN
Dy
5 4
2| /D
45:'- DLO
51" FRAME SIZE

SINGLE 2~LITE
DESIGN PRESSURE: + 90 PSF.

Documents Freparad By:

BUILDING CONSULTANTS,

,_%WP.O. Box 230 Valrico

G,
33595

Phona No.: 813.650.997

Fleride Beard of- Professtopdl Engineers

Certificate Of puthori .

W //’ 4 2/23/08
£ -

Wendell \V./ bté{ney.( P.E. No.

No. 9813

( C}
2
yaE
3 .
D
gl (3] [N
NEIR Y
2 E B
Sa 3
" 65 o
3 A4 G 5
Dy
4g" DLO
51" FRAME SIZE
SINGLE 2—LITE

158

DESIGN PRESSURE: + 90 PSF.

ALL FRAME ASSEMBLY SCREWS TO BE 1/4" X 1-1/4" SHEET METAL SCREWS.

ALL STEEL IN CONTACT WITH ALUMINUM TO BE PAINTED OR PLATED.

THIS STRUCTURE IS DESIGNED PER THE 2001 FLORIDA BUILDING CODE, INCLUDING THE HIGH VELOCITY
HURRICANE ZONE.

WOOD BUCKS BY OTHERS MUST BE ANCHORED PROPERLY TQO TRANSFER LOADS TO THE STRUCTURE.

. ANCHORS SHALL BE LISTED, SPACED AS SHOWN ON DETAILS. ANCHOR EMBEDMENT TO BASE MATERIAL SHALL
BE BEYOND WALL DRESSING OR STUCCO.

6. THIS PRODUCT MEETS THE REQUIREMENTS OF SECTION 1626.6 OF THE 2001 FLORIDA BUILDING CODE AND
DOES NOT REQUIRE THE USE OF APPROVED EXTERNAL DEVICES.

73
< 83
= &%
o ke i
L0 2 ]
O g g
| 23 i
= E:” &
NDIE ¥ I
(f) 3‘-% - Ew
§u.
2% || |5]8
AU
IR
A .
| <
<
N |1E|
Ng 8
9y IESE
)

Approved as complying with the
Florida ﬁmdmg Code

TEM:  NOTES & ELEVATIONS

FILE:  650Ww—LMI

SHEET# 1 OF 9




CADocuments and Settings\wendellhiMy Documents\Drawings\B5UVWV~LMl.dwg

g8
SET CAP IN BEAD OF SCHNEE MOREHEAD _ § &
. SM5504 ACRYL-R NARROW JOINT SEALANT 3
PLUG VERTICAL MULLS AT END 6 3/16” 0g
WITH SILICONE (TYP EACH VERT) SEE ANCHOR SCHEDULE (13) 5¢
SILICONE SEALANT AND BACKER AR EPDM@ = g8
CAULK STOP
ROD (TYP AT PERIMETER///// AULK STO S as
2D §
: ¢ STRUCTURAL SILICONE o == '
. - | L mé‘— @ S § f
. 3l PH 5 [ SUN~605 [’ g -
< hi @ e 1& | gg E §
. 7 i < B Ic
B L5 ® 2 |ammir s
= o ® 3c
5 v i @ 2f 3
> =/ SUN-602% ST JUL 53 |3|k3 :
IL STRUCTURAL SILICONE X HEHH
70 DURO. EPDM
CAULK SToP  (25) q
70 DURO. EPDM , - M=
WEDGE INTERMEDIATE_HORIZONTAL 2yl 2
@ HEAD - X CEE RS
N O
= ()
” s IEEIR=
6 1/2 7 = =
6 3/16" /)
70 DURD. EPDM
WEDOE @ gngURo. EPDM@
70 DURO. EPDM mente Prepared o
g /" CAULK STOP Pocuments Paufms:e Bc):;rqsuu.nms. INC,
. @ R pe 3
STRUCTURAL SILICONE ora of Profession Anginsers
ya 1/8" SETTING BLOCK AT EA CHAR (TYP) Corttaate o Aoy i/
= Re= 0 SUN-606 ﬂ; ) 4 ' 2/23/08
s | XE 0 m 3/4" WIDE X 1/2" HIGH X 1/8" THICK (4 LONG)@
L "N , ALUM SETTING CHAIR AT 1/4 POINTS e
o = i
* = s —— SET CAP IN BEAD OF SCHNEE MORE;IEADT ) ANCHOR SCHEDULE
= YL— OINT '
. § M504 ACRYL-R NARROW JOINT SEALAN SUBSTRATE ANCHOR SPACING
> 5 SEAL HEADS (TYP) CONCRETE: 5/16"¢ TAPCON WITH 1 1/4” SEE
W i ] @ EMBEDMENT INTO CONCRETE. SHEETS Awml%imgmg‘mm@
s STEEL: , SEE puiding Lol o
A \\\\\\§\\ \\\\\\\\\ :'EE 5/10605"6‘. ) Z;:Z": :rPSCON WITH 1 1/4” SEEETS
e o e B % kS EMBEDMENT INTO CONCRETE SHEETS
AT CENTER OF EACH UNIT (TYP) T ; IE.
WOOD: 3/8"6 WOOD SCREW WITH SEE
SILICONE SEALANT AND BACKER
SEE ANCHOR SCHEDULE 2 X " SHEETS
ROD (TYP AT PERIMETER) @ ! 1/2" EMBEDMENT. £ TTEM: __ HORIZONTAL DETALS

1/4"6 WEEP STRAW
AT CENTER OF EACH UNIT (TYP)

@ SILL

FILEF:  650WW—LMI

SHEET# 2 OF 9




9/16"
—— OVERALL
THICKNESS

1/4" HS.

100" SAFLEX HéP. BY SOLUTIA
0

1/4" H.S.

TYPICAL GLAZING DETAIL

END DAM (ED-01 BEYOND): SET IN BED
OF SILICONE AT SILL STARTER, SEAL ALONG @@
EDGE OF FRAME AFTER INSTALLATION

6 1/2"

©) |

e
_Zaw?—_._

. FS
3 DLO
1/4"t
X
- Ny O
AL | 1
= S |~ (13) SEE ANCHOR SCHEDULE
|
|
! S
2 | E @‘3 1/4" X 1-1/2" SMS
- ! ! 7] SEAL HEADS (TYP)
i 1 | 3" LONG SCHNEE MOREHEAD 1/8" X 3/4” (19)
; : TAPE (SM5601) AT METAL TO METAL JOINTS
T / AT INSIDE FACE OF GLASS (TYP)
, N == 70 DURO. EPDM CAULK STOP

STRUCTURAL SILICONE SEALANT
70 DURO. EPDM

e @) (@)

Y ATI ]

)

WEDGE

suu-»403\
SET CAP IN
1/2"

SM5504 ACRYL~R NARROW JOINT SEALANT

BEAD OF SCHNEE MOREHEAD

@)

RO
<:> JAMB

.090" SENTRY GLASS PLUS BY DUPONT

DLO

DLO

Er

1/4 X 1-1/2" SMS
|~ SEAL HEADS (TYP)

" 4=1/2" X 1/4" STEEL BAR REINFORCEMENT (14)

(PAINTED OR' PLATED)

—— PRIOR TO INSTALLATION OF 2ND FRAME,

/ RUN CONTINUOUS BEAD OF SILICONE.

3" LONG SCHNEE MOREHEAD 1/8" X 3/4°
TAPE (SM5601) AT METAL TO METAL JOINTS
AT INSIDE FACE OF GLASS (TYF)

70 DURO. EPDM CAULK STOP
STRUCTURAL SILICONE SEALANT (TYP) @@

(19)

TR SN NN NN NN NN
NN NOAARNN NN

L%D%%RO. EPDM

SUN=411
@ 3/4" BITE (TYP)

Q

INTERMEDIATE VERTICAL

12" ELEVATION (REINFORCED)

Documents Prapored By:
BUILDING CONSULTANTS, INC.
P.O. Box 230 Volree FL. 33585
Phone No.: 813.659.9197
Florida Board of Professioncl Engineers
Ceriificate Of harization Na?l 9813
Wendell W. Hamyﬁ%;7

2/23/05

g
- S
33
=< 83
= o9 :
O faoNo
9] B,
© 8 2
| a3 il
= E"’ &
> 5 || |83
)] gg - &=
o |,
§§3§§§
i gl
ﬁ i}
<]
HE
e
2 —_— = ;
gl.u Q
Z uv% %
3 =3 S
f)

Approved as compiyiug with the
Florida Baiding Cods

ate . S
NOAR -

ITEM: VERTICAL DETAILS

FILE§:  B50WW—LMI

SHEET# 3 OF 9




TS\Drawings\ESOWMLLVE dwy

dellh\My Dc

and Seltingsk

Doouments Prepared By: . . g £
RY . sox 250 oo s, 00 Bill of Materials . SF
L Ly - , , S
W _ 2/23/08 ttem# Part# Description Material Manufacturer/Supplier/Comments §§
’ [
ol el ALUMINUM_EXTRUSIONS T oo e gy D = &
1 15/16" 3 | SUN-403 | FACE CAP 6063—T6 % 22 }
| 3 | RV l 1 1/2" 4 | SUN-404 | FACE CAP 6063-T6 Yo r
— — 5 | SUN-605 | HORIZONTAL 6063—T6 o ik
@ % \ﬁﬂ‘b 6| SUN-606 | SIL 6063-T6 53 1
7 _ NOT USED - Z A 2
[ 8 | SUN-614 | STARTER SILL 6063~T6 D =g Bl
: i ) 9| SUN=609 | MALE SPLIT MULLION 6063-T6 0 &8 -[3=
2 N 2 2 10 | SUN-610 | FEMALE SPLIT MULLION 6063-T6 P, g
0 . 0 o 11 | SUN—411 | SPLIT MULLION FACE CAP 6063-T6 HAEIILIE
¥ ¥ /8" || ¥ 12| SUN-412 | SPLIT MULLION FACE CAP 6063-T6 () 1 3
- 13 - ANCHOR PER SCHEDULE (SHT 2 OF 9) - | E
- 14 - REINFORCEMENT: 4-1/2" X 1/4” STEEL BAR A36 | PAINTED OR PLATED q
@‘ 15 - 0.040 ALUM BREAKMETAL END DAMN 5005-H14 - =
[ 1 | 1 16 - FRAME ASSY SCREW: 1/4” X 1-1/2" SMS - 3 <
o é_’ . 1/8" 17 - SETTING CHAIR (4” LONG): 3/4°x 1/2°x 1/8" ALUM CH | 6063-T5 S Tg
> | 18 - 1/8" SETTING BLOCK (4" LONG) EPOM | GLAZING RUBBER PRODUCTS (OR EQ) Sl 2
- 1.15/16 [ 1172 19 | SM5601 | TAPE SEALANT ~ | SCHNEE MOREHEAD (OR EQ) 7 n 2 =
() SELHEAD (S-6:13) () MALE MULLION (SUN-609) (70) EEUALE WULLON (SUN-610) 20 | SM5504 | SEAM SEALER ~ | SCHNEE MOREHEAD (OR EQ) 5 =3 2
21 |PROGLAZE Ii| STRUCTURAL SILICONE SILICONE | TREMCO OR EQUAL
1.1/16" 4 15/16" . 3 22 |SPECTREM 1| PERIMETER SIICONE SEALANT SILICONE | TREMCO OR EQUAL )
l ; 23 _ WEEP STRAW PLASTIC
5 1 - 24 Z WEEP BAFFLE ~ 30 PPl / OPEN CELL POLYSTYRENE | NORTON OR FQUAL
m ® S 25 |TR-10681E| EXTRUDED 70 DURO. EPDM CAULK STOP GASKET EPDM | TREMCO (OR EQUAL)
= - 26 | TR-1000E | EXTRUDED 70 DURO. EPDM WEDGE GASKET EPDM | TREMCO (OR EQUAL)
= + (3)Si(sun-608) . (3)EACE CAP (SUN-403) ] 27 | TR-5783E | EXTRUDED 60 DURO. EPDM BULB GASKET EPOM | TREMCO (OR EQUAL)
| |1/8 28 - NOT USED -
29 - NOT USED -
3/16” E 3" %
- 11/16" 4 15/16” > | | -
'b . 1.13/16 . 7 _G_AiKHE pmeeed 2 compling i b
) el LU (12)SELIT MULL CAP (SUN=412) g P il Ol
“ i L 1/8" = FACE CAP (SUN-404) = oAt O T
< _.' 3/16 v ULH_; i S 3 l @ @ g@%dg Produst Soqgr
Y " — "553' U /
J’L :l |1 12 S 7 7 @
FILLER (SUN-602)
6 3/16" UL JUL] _} (11)SBUTMULL CAP (SUN-411) ® ITEM: __COMPONENTS & BOM
- . (3 HORZONTA (sut-505) FILEF:  650WW—LMI
SHEET# 4 OF 9

ADoK




5 5/16"

1
3" v ."9;
5 3" TYPICAL — l'_ 3 TYPICAL Ef
| NN NEREN r = &3
I I 7171 T 1 ] g ) §
e _— O LA
o ) £ g
& (0] . i
o Sy :
| 53 E ,§
% e 3o &
—_ - Ly - 23 E
" 2 (f) ‘f% | Bw
/—-5/16 SHEET METAL SCREWS a 3c £
- gE‘.
/ 2 AL g
) .
[ ﬁ My Ll j
Hl <
i o Se | 18| >
= =
7 L8| S
-t - 2y IEEE
) =
© 1)

l

‘-————— 3 EQUAL SPACES

!

|

]
R —
U5 '[H‘[I‘— 3" TYPICAL
3”

ANCHORING USING 5/16" SHEET METAL SCREWS
(FOR ANCHORING TO 16 GA. MIN STEEL SUBSTRATE)

NOTES:
1. FOR INSTALLATION UTILIZING DIFFERENT ANCHOR

SUBSTRATES WITHIN THE SAME ROUGH OPENING,
USE THE APPROPRIATE ANCHORING FOR EACH
SUBSTRATE. FOR EXAMPLE, IF THE SILL IS
ATTACHED TO A CONCRETE SLAB AND THE HEAD
AND JAMBS ATTACHED TO 2X BUCK THEN USE
THE TAPCON LAYOUT FOR THE SILL AND THE
WOOD SCREW LAYOUT FOR THE HEAD AND
JAMBS.

. SEE ANCHOR SCHEDULE, SHEET #2

Documents Prepared By: ‘
BUILDING CONSULTANTS, INC,

%WP.O. Box 230G Vairico FL. 3380%

Phens No.: 813.650.8197

Approved ns complying with the
Fiorida Buiding Q%' ,
NOAR OV 1 L35, O]

Wi Dade Foduct Gl
Divisien

By li/ Acdebel £ '

ITEM: ANCHORING

FILEF:  650WW—LMi

SHEET# 5 OF 9

C:\Documents and Settingsiwendelih\My Documents\Drawings\S50WWLM!. dwy




C:ADocuments and Settings\wendellhiMy Documnents\Drawings\GS0WW-LM|.dwg

g8
s
~1.1/2" (TYPICAL) 3 =
= "l 1 1/2" (TYPICAL) [__ 0a
s " ~ @8
S 6", 187/8 10 1/2" 3" _Ly'w 1/2" 18 7/8" ¢ 58
Te) f "
o : r——-———f % "= | l = B8
L L | PLELEE 1 | —
u T T 1 T T 1 1 < 79
1 I o BE 3
(O] g &
N s
= 7 &
0 — D %3 B s
§ " ga -l &=
| = o g
I 0 A
3 LB
— 0 ool §
= +— | ié_.é
3/8" WOOD SCREWS q ¥
1 - =
SAl &
S |12 5
R—— T — E g
I [Quwl| O
8 Y 02| S
1 1 <<g| £
B =
0
ik I TES:
2 NOTES:
;’ 1. FOR INSTALLATION UTILIZING DIFFERENT ANCHOR
£ ' SUBSTRATES WITHIN THE SAME ROUGH OPENING,
g USE THE APPROPRIATE ANCHORING FOR EACH
= SUBSTRATE. FOR EXAMPLE, IF THE SILL IS
= +— ATTACHED TO A CONCRETE SLAB AND THE HEAD
AND JAMBS ATTACHED TO 2X BUCK THEN USE
THE TAPCON LAYOUT FOR THE SILL AND THE
- WOOD SCREW LAYOUT FOR THE HEAD AND
JAMBS.
— 1 2. SEE ANCHOR SCHEDULE, SHEET #2
| ARAEE REEEE | Ll AR | | Asmmveds\swmplymswlththe
i T 1T | PEE THH ! { ?ﬂﬂ@ﬁ%ﬁﬁﬁﬂcﬁ ,
o aie ;'_:71,'“.:;
}J\ Decuments Pn@arod By:
e

ANCHORING USING 3/8” WOOD SCREWS

(FOR ANCHORING TO 2X WOODBUCK)

BUILDING COMSULTANTS. INC.
P.O.-Box 230 Valrco FL. 3359%
Phone No.: 813.559.8197
floridg Beard of meouianat Engi gors

Wendell W. Hangy PE i

ITEM: ANCHORING

FILE#:  650WW—LMI

SHEET# 6 OF 9




C:\Documents and Settingsiwendelth\Wy Documents\Drawings\@S0WWELMLdwg

5 5/16"

3.76" (TYPICAL)

U SR

18 7/8" !
|
L | |
u 1

3.76" (TYPICAL) |
3.76" (TYPICAL)

|
1l
T 1T

¥

| 1
! 11

3.76” (TYPICAL)

18 7/8"

L] ]
T

(3) EQUAL SPACES

5"

{3) EQUAL SPACES

5/16" TAPCONS

T NOTES:

1. FOR INSTALLATION UTILIZING DIFFERENT ANCHOR
SUBSTRATES WITHIN THE SAME ROUGH OPENING,
USE THE APPROPRIATE ANCHORING FOR EACH
SUBSTRATE, FOR EXAMPLE, IF THE SILL IS

1+ ATTACHED TO A CONCRETE SLAB AND THE HEAD

AND JAMBS ATTACHED TO 2X BUCK THEN USE

THE TAPCON LAYOUT FOR THE SILL AND THE

WOOD SCREW LAYOUT FOR THE HEAD AND

JAMBS,

4 2. SEE ANCHOR SCHEDULE, SHEET #2

5 5/16"

ANCHORING USING 5/16" ELCO TAPCONS

(FOR ANCHORING TO CONCRETE OR HOLLOW BLOCK)

Documeanis Prapared By:
BUNDIMG CONSULTANTS, INC,

.%WF‘.O. Box 230 Valrico Fl. 33895

Phone No.: 813.850.9147
Flerlda Boord of Professtongl Enginesrs

caﬂ%aﬁmﬂo No. 9813
/; / / 2/23/08
Wendell W, Hdney, if’ﬁ ;4158

il
= 893
S B
o i
| 53 i
< g 5
EDIE ¥: HE:
D g8 i
;<: 8
HIEIPHTE
U) X
N ey
¢ .
oy |
Sal S
2 -1
K[uwl| O
O ()]
ZH| 2% 2
) =
()

Approved as complying with the-

Florida Buiding Code

peit 74,2005

ITEM: ANCHORING

FILEF:  650WW—LMI

SHEET# 7 OF 9




g8
Bl
6" 6" 6", (3) EQUAL SPACES | 6" 6" 6" o =l &
N ] | | ] ] £
| | | | | <
s I - l ! ! ] o I | w '§‘of
m - m - a —— |z &
v —
| L > = 22 s
(2 D S 3
' O 3 8
T B T I © g : §
l s% 11
—T T— —~t . Z g 1=
D =3 3
1 1 1 h- N gé TE=
5/16" SHEET " = g g
w ] 04
¥ METAL SCREW : L ™ ¢ HIHAHL
7] 7] U‘) R @
il - 2 — — = -1 - g X B 5
= 3/8" WOOD SCREW & 5/16" TAPCON & q
5 /" - s a 2 \ y
/ = / g 24 T
._Z:- e -—Z- L @ i (\i'l @ g
1 1 1 1 & Wl
Z v %
I .l L A E=| &
)
£ £
o o o] +——t +——%] o
% % Wl L —t —1lwl o
LY ¥
H | © | | | } ‘o | } o
| | l l I | [ I
. . ” " Approved as complylag with the
ANCHORING USING 5/16” SHEET METAL SCREWS ANCHORING USING 3/8” WOOD SCREWS ANCHORING USING 5/16" TAPCONS riurﬁdﬂﬁuk@mg{,‘m
(FOR ANCHORING TO 16 GA. MIN STEEL SUBSTRATE) (FOR ANCHORING TO 2X WOODBUCK) (FOR ANCHORING TO CONC. OR HOLLOW BLOCK) el 24,
NOTES: o aNONG CONSULTANTS, M.
‘%,Wpo Box 230 Vairico Fl, 33885
1, FOR INSTALLATION UTILIZING DIFFERENT ANCHOR SUBSTRATES WITHIN THE SAME ROUGH OPENING, USE THE APPROPRIATE ANCHORING FOR e o R e
EACH SUBSTRATE. FOR EXAMPLE, IF THE SILL IS ATTACHED TO A CONCRETE SLAB AND THE HEAD AND JAMBS ATTACHED TO 2X BUCK Cantifinata Of Aythorizatiop, Y, 9813
THEN USE THE TAPCON LAYOUT FOR THE SILL AND THE WOOD SCREW LAYOUT FOR THE HEAD AND JAMBS. v %’f/ 2/23/08
ITEM: _ ANCHORING
2. SEE ANCHOR SCHEDULE, SHEET #2 wondell M. Hooy 2 198 FILE§:  650WW—LMI
SHEET# 8 OF 9

C:\Documents and SettingsiwendelintMy Documents\Drawings\6SOVAN-LIVIL.dwg




C:\Documents and SettingstwendelthiMy Dosuments\Drawings\S50vWi-LM dwg

HE
‘s_“‘l I‘G‘ 6",  (4) EQUAL SPACES ¢ j__] 191/ g - S
| | B | <
| 28
| F— — 11— , | | | : 58
2] w 1 tD. a‘)té
=T T T I 3 — = 83
i L = Bl
| 1 L0 g 3
mi N © g 1F
— = g 9 Q | &3 1k
Q Q * > ag i
& T ™ & 7] . E“ &
, 2 , ,
z - — 2 g v S - &=
— 4 © G = 00
i L 1 | A
5/16" SHEET 3/8" WOOD SCREW — 5/16" TAPCON 1} gyl ﬁ
METAL SCREW — /_ i /- YERREIEE
/| . / q
A i ] ._zf/ R S - s i ] n ~
‘o — 1 s o Byl <
: — 1= . NR%!
b . ©o 6 R eﬂ‘ s d ’D- E — = ;
™ Rl O
- 1 / 2% Z
=3 g
1 )
—t t— IR % @a
—1 | ﬁéa:: §
3 T T~ 5
T T ol 2
1 1 £ =
| i 0 ] | | | | © | 1 { ©
| i ! [ | i l [ l |

ANCHORING USING 5/16" SHEET METAL SCREWS
(FOR ANCHORING TO 16 GA. MIN STEEL SUBSTRATE)

NOTES:

1. FOR INSTALLATION UTILIZING DIFFERENT ANCHOR SUBSTRATES WITHIN THE SAME ROUGH OPENING, USE THE APPROPRIATE ANCHORING FOR
EACH SUBSTRATE. FOR EXAMPLE, IF THE SILL IS ATTACHED TO A CONCRETE SLAB AND THE HEAD AND JAMBS ATTACHED TO 2X BUCK
THEN USE THE TAPCON LAYOUT FOR THE SILL AND THE WOOD SCREW LAYOUT FOR THE HEAD AND JAMBS.

ANCHORING USING 3/8" WOOD SCREWS
(FOR ANCHORING TO 2X WOODBUCK)

2. SEE ANCHOR SCHEDULE, SHEET #2

ANCHORING USING 5/16” TAPCONS

(FOR ANCHORING TO CONC. OR HOLLOW BLOCK)

Documents Prepiarad By

UILDING CONSULTANTS, INC.
W:o: Box 230 Valriso FL. 33865
Pl

hene No: 813.859.9197

Flarida’ Board of Profeagionat

Certificate Of

l: n

En

RErS

Approved as complylng with the

ITEM: ANCHORING

FILE§:  BSOWW-LMI

SHEET# 9 OF 9




